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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/m##8%% | 1.00 | 000 ~ 147 12232 |3m%x8BZ5% -~ - -] 100kN/ %825 | 1.00 | 10.74 ~ 1620 122832 |3m%E#BZ% ~ -
s 1.00 | 1.47 ~ 9.25 100.00 | =St | 000 ~ 9.25| 2.27 11.48 st 1.00 | 6.00 ~ 10.74 100.00 | =hst | 6.00 ~ 1620)| 2.27 11.48
2 100kN/m%E#BZ5 | 1.00| 000 ~ 093] 113.89 |3mEEZD -~ -] 100kN/ %8825 | 1.00 | 1086 ~ 14.00| 11389 |3m%EiBz% ~
s 1.00 | 093 ~ 871 100.00 | =St | 000 ~ 871 2.07 10.46 st 1.00 | 6.00 ~ 1086 100.00 | =nhst | 5.00 ~ 1400 2.07 10.46
3 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m%#8% % -~ -|3mEBZD ~
s 1.00 | 0.00 ~ 627 78.72 | NS | 000 ~ o0.00| 1.63 828 st 1.00 | 6.00 ~ 7.60 7872 | ThSY | .00 ~ 7.60| 1.63 828
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 691 87.51 | #nS | 0.00 ~ 0.00| 1.65 8.36 st 1.00 | 6.00 ~ 8.80 87.61 | #h4 | 5,00 ~ 880 | 1.65 8.36
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.30 66.10 | =4t | 0oo ~ 000 | 1.60 811 st 1.00 | 6.00 ~ 6.00 66.10 | =hst | 5.00 ~ 6.00| 1.60 811
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.13 63.98 | FnLSY | 0oo ~ 513| 1.92 971 st 1.00 | 5.00 ~ 5.90 63.98 | =nhst | 5.00 ~ 590 1.92 9.71
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 473 58.96 | =nLs | 0.00 ~ 0.00) 1.66 837 st 1.00 | 6.00 ~ 5.00 58.96 | =n4 | 5.00 ~ 5.00| 1.66 837
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 467 5822 | #nS | 0.00 ~ 0.00| 1.62 819 st 1.00 | 6.00 ~ 5.00 5822 | =n4 | 5.00 ~ 65.00| 1.62 819
9 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.10 63.61 | FnLSY | 000 ~ 0.00| 1.67 8.44 st 1.00 | 6.00 ~ 5.50 63.61 | Thst | 5.00 ~ 56560 1.67 8.44
10 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 486 60.59 | Tns | 0oo ~ 000\ 1.65 832 st 1.00 | 6.00 ~ 5.20 60.59 | TSt | 5.00 ~ 520 1.65 8.32
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zhLst ~ ZFhst ~ FhLst ~ st ~
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